Mxo PNI-P15TO2L18
L18x2. P15x 1:#E&ERY FFHEEE. #iEA

T &%
BEAE—H— P15,L18
I rIRER E—H—E %k P15x1&. L18x2&
T 4 1 1.0039 (5235JRH) & DX51D+ZM120 &8 8B T4 —wa . BE
& (WxHxD) 720 x 1459 x 397 mm
BE 27.3kg
NEX
28 240 ?11
o0 : ool
S 1 E ° i
I i
H 560 b
630
A
| 720 } 397
| 1 (oo ol
D
<3
716
EEX ARIEX
SCALE: 1/20 - - (BE17 : mm)
EIHA &
X1 R#7L—F X17L—+ (8 X2 x4 FL—F
———ry
@ @
X8 M10x30 (a) X2 M6x25(a) X2L18@7L—F
X2 M10x25 (a) 3
X12 M10x18 (a) i: o
/
(@): X YVDBEIFIRTEERLGZHBEDNDYET, BEIEIMEEMIONSEIRFRETYT, (BHERFNTEBLTVWERA)
A - ARRBEAOKMEUANADBRIC K ZERICOWLNTIE. NEXOIFEFZEWLHRET,
* BFIEERIC DL TIEWeb T 1 b nexo-sa.com#Z THEERL &L,
B=hR 2024548 Page 1 0f 3

BRIV I/NZ -V oI/



Mxo PNI-P15TO2L18
L18x2. P15x1&EER Y FFrAEE. HiEH

FEGREFvERY bEEEY Blesblc, OV IRDRHENNBORIV F 2B TEALEED,

L18MDERY £

AV TL—rZEMI0OX30RIL FZFERLTRIES LEY (FTRBR) . T2lcfddic, Dl sbommiEikLEd,
M10x18R)L b ZER LT L18DEAIND T L — b EMEHIITET,

Cardioid(BE—f5@1M%)E— F Omni(fEiEm@E) E— K

déd

déd

KHTL— b OB

AHATL—bZAMYTL— FOMEICEDET
BELEY,

P150DHEL ) {1

P15 7L — FREICERE L. FEDERNABEDIMIBIC
B, MBORIVNITEELE T,

M10x25x274, M6x25x2A%FR L ET,
(BRIAEIC DV TIE TREBR)

B=HR 2024548 Page 2 of 3

BRIV I/NZa—Iv oI/



NEXO

PNI-P15TO2L18 7L —LFILH

PNI-P15TO2L18

L18x2. P15x 1:&EERY NFE®E. &ieb

P15 Holes 1 Holes 2 Holes 3 Holes 4 Holes 5 Holes 6 Holes 7
0° 4,00° 2,00° -0,25° -2,50° -4,50° -6,75° -8,75°
-15° 4,00° 2,00° -0,25° -2,50° -4,50° -6,75° -8,75°
-25° 4,50° 2,25° 0,00° -2,00° -4,25° -6,50° -8,50°
-35° 4,75° 2,50° 0,50° -1,75° -4,00° -6,00° -8,25°
-45° 5,00° 2,75° 0,50° -1,50° -3,75° -6,00° -8,00°
-55° 5,00° 3,00° 0,75° -1,50° -3,75° -5,75° -8,00°
7E1:Holes 11&, FOHRIDIN T,
A2 TOAEAEIL. T—T7IV I ITA M ERLEWNRETIT>TVET,
AEIAEE KTUIE (0°) ITHTHEDTY,
IR IS AER S
0° -15° -25°
-35° -45° -55°
B=h 2024F4R Page 3 of 3

RNV I/NZ -V oI/



	PNI-P15TO2L18_P1
	PNI-P15TO2L18_P2
	PNI-P15TO2L18_P3



